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mara~ | seew | £ 8 TP mewn | £ B (FT| ween | B0 (R0r| ween | B8 %00
E&Hm 34 (34) 43, 000 0.1 17 (a7 97, 800 0.2 2 @ 23,500 2.5 53 (53) 59, 900 0.2
AN 26 (26) 44,700 0.4 7 (1) |131,100 0.8 2 2 29,100 1.5 35 (39 61,000 0.6
LHT 13 (13) 30,100 | -0.1 5 (® 41,900 | -0.4 — 18 (18) 33,400 | -0.2
&t 4 (4) 30,800 | -0.9 2 (2 44,400 | -1.7 — 6 (6) 35,300 | -1.1
fRETH 14 (14) 20,100 | -0.8 8 (8 44,000 | -1.0 1M 11, 900 0.8 23 (23) 28,100 | -0.8
REATH 4 &) 36,800 [ -0.4 2 (2 46,200 | -0.9 1T M 22,400 0.4 7 37,400 | -0.4
AR 5 (5) 30,200 | -0.1 2 2 43,400 | -0.6 — 7 34,000 | -0.2
INEETH 3 (3 19, 400 0.5 2 2 25,100 | -0.2 — 5 (5 21,700 0.2
FAH 6 (6) 12,500 | -1.1 3 37,100 | -1.4 — 9 (9 18,900 | -1.2
By iR 3 18,300 | -1.3 3 27,300 | -1.8 — 6 (6) 22,800 | -1.6
hEH 7 23,600 | -0.5 2 (2 36,200 | -0.1 — 9 (9 26,400 | 0.4
KETTH 6 (6) 10,100 | -1.1 1T M 19,700 | -2.0 — 7 11,500 | -1.2
gR Ll 4 &) 14,600 | -1.2 1T () 24,300 | -1.6 — 5 (5 16,500 | -1.3
ZHm 5 (5 18,200 | -1.0 1T () 54,400 | -1.8 1T M 25,300 | -0.4 7 24,400 | -1.0
BRT 7 37, 800 0.8 5 (® 52,400 0.1 1M 30, 400 1.3 13 (13) 42,900 0.6
&A™ 12 (12) 23, 400 0.0 6 (6) 33, 600 0.0 — 18 (18) 26, 800 0.0
FehH 6 (6) 28,500 | -0.1 3 35,800 | -0.6 1T M 18, 900 2.7 10 (10) 29, 700 0.0
RiE™H 3 X 18,300 | -1.3 1T () 33,900 | -0.3 1T M 12, 600 1.6 5 (5 20,300 | -0.5
ZE2HH 10 (10) 26, 400 0.8 4 (4) 42,900 0.2 — 14 (14) 31,100 0.6
INEET 1T M 20,300 [ -1.0 1T M 22,500 | -1.7 — 2 (2 21,400 | -1.4
N+t 1 M 9,300 | 0.6 — — 1 (1 9,300 | -0.6
[R5 €] 1 M 8,500 | -1.5 — — 1 8,500 | -1.5
AR 1 3,300 | -2.7 — — 1) 3,300 | -2.7
L FEAR AT 1 2,900 | -2.7 — — 1T M 2,900 | -2.7
1k ATERET 2 2 17,300 | -0.6 1T () 23,000 | -0.4 — 3 X 19,200 | -0.5
B HIRET 6 (6) 73,100 | 10.5 3 (3) | 195,800 6.0 — 9 (9) | 114,000 9.0
fEN 4 EHET 2 @ 21,000 2.5 1 (1) 21,900 0.9 1 () 13,900 0.7 4 (4) 19, 400 1.6
I FHET 2 @ 11,000 | -1.0 1T 14,800 | -0.7 — 3 ) 12,200 | -0.9
BARF 1 M 15,400 | -0.6 — — 1T M 15,400 | -0.6
K F0ET 2 2 8,900 | -2.3 1T () 14,100 | -2.1 — 3 3 10,600 | -2.2
TEREHET 3 @ 41,400 | -1.0 1T M 42,400 | -2.1 — 4 4 41,700 | -1.3
EtTRET 3 @ 13,800 | -1.0 1T M 28,600 | -1.0 — 4 4 17,500 | -1.0
[R+F 1 M 15,100 0.7 — — 1T M 15,100 0.7
REFHET 3 3 14,900 | -1.8 1T () 21,700 | -2.7 — 4 4 16,600 | -2.0
HEHET 3 19,600 | -1.4 2 2 25,300 [ -2.1 — 5 (5) 21,900 | -1.7
R S HT 2 @ 11,300 | -1.3 1T M 13,100 | -1.5 — 3 3 11,900 | -1.3
[Fap=32 ) 1 19, 700 0.5 1 () 21,000 | -1.9 — 2 2 20,400 | -0.7
=ylIF ) 1) 3,400 | -2.0 — — 1T M 3,400 | -2.0
=k 1 (M 15,700 | -1.3 1T () 24,200 | -2.0 — 2 @ 20,000 | -1.7
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U ET 2 (2 11,800 | -1.2 (D) 19,600 | -2.0 — 3 3 14,400 | -1.5
= FRET 2 (2 14,800 | -1.3 (D) 19,700 | -2.0 — 3 Q) 16,400 | -1.5
Be g T 2 (2 3,100 | -1.5 T M 4,000 | -2.2 — 3 @ 3,400 | -1.7
e 5 4t 4 4 5000 | -1.2 (D 16,600 | -1.2 — 5 (9 7,300 | -1.2
A T M 2,500 | -2.3 — — (D) 2,500 | -2.3
RPF T M 4,200 | -2.1 — — [IA)) 4,200 | -2.1
T RS T 5100 | -1.6 — — [I)) 5100 | -1.6
FEARF [ 2,800 | -2.1 — — [I)) 2,800 | -2.1
REEH [ 4,400 | -2.0 — — 1T ) 4,400 | -2.0
REN T 1,800 [ -2.1 — — T 1,800 [ -2.1
BARF [ 12,500 | -0.8 T M 17,400 | -1.1 — 2 (2 15,000 | -1.0
SEH 1T M 12,700 | -0.8 [IQ)) 15,500 | -1.9 — 2 (2 14,100 | -1.4
REeFt T 1,900 [ -1.6 — — [IG)) 1,900 | -1.6
£ HAET [ 12,500 | -3.1 — — [I)) 12,500 | -3.1
RN ) 3 @ 6,800 | -2.3 (D) 13,200 | -2.9 — 4 4 8,400 | -2.5
AREF [ 10,400 | -1.9 (D) 11,900 | -2.5 — 2 @ 11,400 | -2.2
EiEH T M 5400 | -2.5 — — 1T ) 6,500 | -2.5
REF T M 6,500 | -2.5 — — [I)) 6,500 | -2.5
REHT 6 (6) 10,200 | -2.7 [IQD) 27,100 | -3.2 — 7 (D 12,700 | -2.8
FRAEFT T 9,600 | -2.0 [ 15,900 | -1.9 — 2 (2 12,800 | -2.0
A At [ 6,500 | -0.9 — — [IC)) 6,500 | -0.9
23] 2 (2 21,700 | 1.5 — — 2 2 21,700 1.5
LEISE ) [ 14,000 ( 0.0 — — 1T 14,000 [ 0.0
FLF 3 3 7,500 | -1.5 — — 3 @ 7,500 | -1.5
sth ER T 2 2 10,900 | -0.1 — — 2 2 10,900 | -0.1
wmnst T 13,700 | 3.0 [ 19,600 | -0.5 — 2 (2 16, 700 1.5
BHEH 3 @ 1,700 | 2.7 2 (2 36,400 | 17.7 — 5 () 19,200 | 8.2
INGFY 2 (2 7,200 | 0.6 — — 2 2 7,200 | 0.6
YRk T 3 3) 20,800 | -1.4 [IQD) 25,900 | -1.9 — 4 (4) 22,100 [ -1.6
iyl 3 @ 34,500 | 1.1 T M 44,700 | 0.7 — 4 (4) 37,100 1.0
SIS T M 18,400 | -1.6 — — [IA)) 18,400 | -1.6
i/ RHET 2 (2 15,700 | -3.0 [Q)) 26,899 | -1.1 — 3 3 19,400 | -2.4
REFF T 4,700 | -1.5 — — T ) 4,700 | -1.5
FIRRRH T 21,400 | 15.7 (D) 32,200 | 20.6 — 2 2 26,800 | 18.2
1S I=HET 2 (2 9,500 | -1.5 [ 14,700 | -2.6 — 3 @ 11,200 | -1.9
INITF 1T M 7,400 | -1.9 [QD) 8,900 [ -2.8 — 2 (2 8,200 | -2.4
BRAHET 2 2 8,100 | -1.6 [ 15,400 | -2.5 — 3 3 10,500 | -1.9
RFt T 3,200 | -3.0 — — [IG)) 3,200 | -3.0

RHR 275 (275) | 25,400 | -0.2 | 111 (111) | 53,100 [ 0.0 | 11 (11) | 22,200 | 1.4 | 397 (397) | 33,000 [ -0.1
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